
“How do you turn Global Fit posterior 
samples into a source catalog?”
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For Each Sample
Compute Waveform 

Match with each Catalog 
Entry

Append sample to Entry

Create new Entry

ℳ > ℳ*

ℳ < ℳ*
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For Each Catalog Entry
Compute Waveform 
Match with previous 

Catalog Entry

Store previous Entry as 
ancestor


(Parent can have more than one 
child)

Mark as new source

ℳ > ℳ*

ℳ < ℳ*
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https://tlittenberg.github.io/lisacattools/



https://tlittenberg.github.io/lisacattools/
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Gaussian Mixture 
Models



00-12 months blind

06-12 months w/ prior
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00-12 months blind

06-12 months w/ prior
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We need MACHINE LEARNING for 
processing & representing high level data

better


